$$\begin{array}{l} \textcircled{(1)}(a) \quad I = (-\infty, \infty) \\ f_{1}(x) = x \qquad f_{2}(x) = 3x^{2} \\ f_{1}'(x) = 1 \qquad f_{2}'(x) = 6x \\ f_{1}'(x) = 1 \qquad f_{2}'(x) = 6x \\ W(f_{1}, f_{2}) = \left| \begin{array}{c} f_{1} \quad f_{2} \\ f_{1}' \quad f_{2}' \\ f_{1}' \quad f_{2}' \\ \end{array} \right| = \left| \begin{array}{c} x \quad 3x^{2} \\ 1 \quad 6x \end{array} \right| = (x)(6x) - (3x^{2})(1) \\ = 3x^{2} \end{array}$$



$$\begin{split} \hline \bigcirc (b) & T = (-\infty, \infty) \\ f_1(x) &= \sin(2x) & f_2(x) = \sin(x) \\ f_1'(x) &= 2\cos(2x) & f_2'(x) = \cos(x) \\ f_1'(x) &= 2\cos(2x) & f_2'(x) = \cos(x) \\ W(f_1, f_2) &= \left| \begin{array}{c} f_1 & f_2 \\ f_1' & f_2' \end{array} \right| = \left| \begin{array}{c} \sin(2x) & \sin(x) \\ 2\cos(2x) & \cos(x) \end{array} \right| \\ &= \sin(2x)\cos(x) - 2\sin(x)\cos(2x) \\ We want to Show that this isn't equal to the zero function. \\ Let's find an x where $W(f_1, f_2)$ is not equal to 0.
If you try x=0 you will get $W(f_1, f_2)(x) = \sin(x)\cos(2x) \\ W(f_1, f_2)(x) &= \frac{\sin(x)\cos(x)}{2} - 2\sin(x)\cos(2x) \\ &= 0 \\ Need a different x. \\ Try & x = \frac{\pi}{2} : \quad \quad \quad \begin{bmatrix} f_1 & you try & x = \pi & you will \\ get O & s_0 & it won't work \end{bmatrix} \\ \hline Then \\ & W(f_1, f_2)(\frac{\pi}{2}) = \sin(2\cdot\frac{\pi}{2})\cos(\frac{\pi}{2}) - 2\sin(\frac{\pi}{2})\cos(2\cdot\frac{\pi}{2}) = -\frac{\sin(\pi)\cos(\pi)}{\cos(\pi)} \\ \hline This is definitely not the zero function. \\ \hline \end{matrix}$$$

ļ



Any x makes
$$W(f_{1},f_{2}) \neq 0$$
.
Thus, $f_{1}(x) = \sin(2x)$ and $f_{2}(x) = \sin(x)$
ure linearly independent on $T = (-\infty,\infty)$.



 $f_1(x) = \frac{1}{x}$ and $f_2(x) = x^2$ are linearly independent.

$$z(a) \quad \text{Let } y_{h} = c_{1} x^{2} + c_{2} x^{4}.$$

$$Let \quad f_{1}(x) = x^{2} \quad \text{and } f_{2}(x) = x^{4}.$$

$$Then, \quad f_{1}'(x) = 2x \quad \text{and } f_{2}'(x) = 4x^{3}.$$

$$f_{1}''(x) = 2 \quad \text{and } f_{2}''(x) = 12x^{2}.$$

$$f_{1}''(x) = 2 \quad \text{and } f_{2}''(x) = 12x^{2}.$$

$$f_{1}''(x) = 2 \quad \text{and } f_{1} \text{ and } f_{2} \text{ are linearly}$$

$$We \text{ have } \quad x^{2} \quad x^{4} = (x^{2})(4x^{3}) - (2x)(x^{4})$$

$$W(f_{1})f_{2}) = \left| x^{2} \quad x^{4} \right| = (x^{2})(4x^{3}) - (2x)(x^{4})$$

$$= 4x^{5} - 2x^{5}$$

$$= 2x^{5}$$

$$The Wronskian is not the zero function, for example at x = 1, the wronskian for example at x = 1, the wronskian is (f_{1}, f_{2})(1) = 2(1)^{5} = 2 \neq 0.$$

$$So, \quad f_{1} \text{ and } f_{2} \text{ are linearly independent.}$$

$$So = f_{1} \text{ and } f_{2} \text{ are linearly independent.}$$

This is true because plugging them into the
equation gives
$$x^{2}f_{1}''-5xf_{1}'t &f_{1} = x^{2}(2)-5x(2x)+8x^{2} = 0$$

and
 $x^{2}f_{2}''-5xf_{2}'t &f_{2} = x^{2}(12x^{2})-5x(4x^{3})+8x^{4} = 0$
 $x^{2}f_{2}''-5xf_{2}'t &f_{2} = x^{2}(12x^{2})-5x(4x^{3})+8x^{4} = 0$
By step 1 and step 2 we know that every
 $s = [ution to$
 $x^{2}y''-5xy'+8y=0$
is of the form
 $y_{1} = c_{1}f_{1}tc_{2}f_{2} = c_{1}x^{2}+c_{2}x^{4}$
 $y_{1} = c_{1}f_{1}tc_{2}f_{2} = c_{1}x^{2}+c_{2}x^{4}$
 $y_{1} = c_{1}f_{1}tc_{2}f_{2} = c_{1}x^{2}+c_{2}x^{4}$
Then, $y_{1}r = 0$, $y_{1}r = 0$.
Then, $y_{1}r = 0$, $y_{1}r = 0$.
Thus, plugging yp into the left hand side
Thus, plugging yp into the left hand side
 $x^{2}y''-5xy'_{1}+8y_{2}=x^{2}(0)-5x(0)+8(3)=24$.
So, y_{1} is a particular solution to
 $x^{2}y''-5xy'_{1}+8y=24$.

(2) (c) By part (a) and (b) we get that
a formula for the general solution to

$$x^2y'' - 5xy' + 8y = 24$$

is
 $y = y_h + y_p = c_1 x^2 + c_2 x' + 3$
 y_h y_p
(d) By purt(c), the general solution to
 $x^2y'' - 5xy' + 8y = 24$
is given by
 $y = c_1 x^2 + c_2 x' + 3$
We want this solution to satisfy
 $y'(1) = 0$ and $y(1) = -1$
We have
 $y = c_1 x^2 + c_2 x' + 3$
 $y' = 2c_1 x + 4c_2 x^3$
So, We must solve
 $y'(1) = 0$ $c_1(1)^2 + c_2(1)^4 + 3 = -1$
 $y'(1) = 0$ $c_1(1)^2 + c_2(1)^4 + 3 = -1$
 $y'(1) = 0$ $c_1(1)^2 + c_2(1)^4 + 3 = -1$
 $2c_1 + 4c_2 = 0$

Solve for
$$c_1$$
 in (1) to get $c_1 = -4 - c_2$.
Plug this into (2) to get $2(-4-c_2)+4c_2=0$
This gives $-8-2c_2+4c_2=0$.
This gives $2c_2=8$.
So, $c_2=4$.
Thus, $c_1 = -4-c_2 = -4-4=0$.
So the solution to
 $x^2y'' - 5xy' + 8y = 24$, $y'(11=0, y(1)=-1)$
is given by
 $y = 0 \cdot x^2 + (-1) \cdot x^4 + 3$
or
 $y = -x^4 + 3$ Answer
This solution is the only solution to purt (d)
This solution is the only solution to purt (d)
of this problem.

$$(3)(a) \quad \text{Lef } y_{h} = c_{1}e^{2x} + c_{2}xe^{2x}.$$

$$\text{Let } f_{1}(x) = e^{2x} \text{ and } f_{2}(x) = xe^{2x}.$$

$$\text{Then, } f_{1}'(x) = 2e^{2x} \text{ and } f_{2}'(x) = e^{2x} + 2xe^{2x}.$$

$$f_{1}''(x) = 4e^{2x} \text{ and } f_{2}''(x) = 2e^{2x} + 2(e^{2x} + 2xe^{2x}).$$

$$= 4e^{2x} + 4xe^{2x}.$$

Step 1: Show f, and f₂ are linearly independent
We have

$$W(f_{1},f_{2}) = \begin{vmatrix} f_{1} & f_{2} \\ f_{1}' & f_{2}' \end{vmatrix} = \begin{vmatrix} e^{2x} & xe^{2x} \\ 2e^{2x} & e^{2x} + 2xe^{2x} \end{vmatrix}$$

 $= (e^{2x})(e^{2x} + 2xe^{2x}) - (2e^{2x})(xe^{2x})$
 $= (e^{2x})(e^{2x} + 2xe^{4x}) - (2e^{2x})(xe^{2x})$
 $= e^{4x} + 2xe^{4x} - 2xe^{4x}$
 $= e^{4x}$
 $= e^{$

Step 2: Show f, and f₂ solve

$$\frac{d^{2}y}{dx^{2}} - 4\frac{dy}{dx} + 4y = 0$$
This is true because

$$f_{1}^{''} - 4f_{1}^{'} + 4f_{1} = 4e^{2x} - 4(2e^{2x}) + 4(e^{2x}) = 0$$
and

$$f_{2}^{''} - 4f_{2}^{'} + 4f_{2} = 4e^{2x} + 4xe^{2x} - 4(e^{2x} + 2xe^{2x}) + 4xe^{2x}$$

$$= 4e^{2x} + 4xe^{2x} - 4(e^{2x} + 2xe^{2x}) + 4xe^{2x}$$

$$= 4e^{2x} + 4xe^{2x} - 4e^{2x} - 8xe^{2x} + 4xe^{2x}$$

$$= 0$$
By step 1 and step 2 we have that the
general solution to

$$\frac{d^{2}y}{dx^{2}} - 4\frac{dy}{dx} + 4y = 0$$
is given by

$$y_{h} = c_{1}e^{2x} + c_{2}xe^{2x}$$

$$(3(b)) \quad Let \quad y_{p} = x^{2}e^{2x} + x - 2$$

$$Then, \quad y_{p}^{'} = 2xe^{2x} + 2x^{2}e^{2x} + 1$$

$$and \quad y_{p}^{''} = 2e^{2x} + 4xe^{2x} + 4xe^{2x}$$

$$= 2e^{2x} + 8 \times e^{2x} + 4 \times e^{2x}$$

So, plugging yp into the left side of
$$\frac{d^{2}y}{dx^{2}} - 4 \frac{dy}{dx} + 4y = 2e^{2x} + 4x - 12 \quad \text{gives us}$$

$$y_{p}^{u} - 4y_{p}^{\prime} + 4y_{p} = (2e^{2x} + 8xe^{2x} + 4x^{2}e^{2x})$$

$$-4(2xe^{2x} + 2x^{2}e^{2x} + 1)$$

$$+4(x^{2}e^{2x} + x - 2)$$

$$= 2e^{2x} + x - 12$$

So, yp solves the equation.
$$3(c) \text{ By parts (a) and (b) we get that}$$

the general solution to
$$\frac{d^{2}y}{dx^{2}} - 4 \frac{dy}{dx} + 4y = 2e^{2x} + 4x - 12$$

is given by
$$y = y_{h} + y_{p} = \frac{c_{1}e^{2x} + c_{2} \times e^{2x}}{y_{h}} + \frac{x^{2}e^{2x} + x - 2}{y_{p}}$$

7

.

(i) (d) From (c) we want

$$y = c_{1}e^{2x} + c_{2}xe^{2x} + x^{2}e^{2x} + x - 2$$
where $y'(o) = 0$, $y(o) = 1$.
Note that

$$y' = 2c_{1}e^{2x} + c_{2}e^{2x} + 2c_{2}xe^{2x} + 2xe^{2x} + 2xe^{2x} + 1$$
We must rolve

$$y'(o) = 0$$

$$y'(o) = 0$$

$$zc_{1}e^{2x} + c_{2}e^{2x} + 2c_{2}\cdot 0e^{2x} + 0e^{2x} + 1$$

$$zc_{1}e^{2x} + c_{2}e^{2x} + 2c_{2}\cdot 0e^{2x} + 1$$

$$zc_{1}e^{2x} + c_{2}e^{2x} + 1$$

$$zc_{1}e^{2x} + c_{2}e^{2x} + 1$$

$$y = 3e^{2x} - 6xe^{2x} + x^{2}e^{2x} + x - 2$$

(4)(a) Let
$$y_{h} = c_{1} \times^{-1/2} + c_{2} \times^{-1}$$
.
Let $f_{i}(x) = x^{-1/2}$ and $f_{2}(x) = x^{-1}$.
Then, $f_{i}'(x) = -\frac{1}{2} x^{-3/2}$ and $f_{2}'(x) = -x^{-2}$.
And, $f_{i}''(x) = \frac{3}{4} x^{-5/2}$ and $f_{2}''(x) = 2x^{-3}$.
Step 1: Show that f_{i} and f_{2} are linearly
independent
We have that
 $W(f_{i,1}f_{2}) = \int_{f_{i}}^{f_{i}} f_{2} = \int_{-\frac{1}{2}}^{-\frac{1}{2}x^{-3/2}} - (-\frac{1}{2}x^{-3/2})(x^{-1})$
 $= (x^{-1/2})(-x^{-2}) - (-\frac{1}{2}x^{-3/2})(x^{-1})$
 $= -x^{-1/2-2} + \frac{1}{2}x^{-3/2-1}$
 $= -x^{-5/2} + \frac{1}{2}x^{-5/2}$
This is not the zero function on I since
for example at $x = 1$ we get
 $W(f_{i,1}f_{2})(1) = -\frac{1}{2}(1)^{-5/2} = -\frac{1}{2} \neq 0$.

Thus, f, and f₂ are linearly independent
on
$$T = (0, \infty)$$
.
Step 2: Show that f, and f₂ solve
 $2x^2y'' + 5xy' + y = 0$
Plugging f, and f₂ into the equation gives
 $2x^2f_1'' + 5xf_1' + f_1 = 2x^2(\frac{3}{4}x^{5/2}) + 5x(-\frac{1}{2}x^{-3/2}) + x^{1/2}$
 $= \frac{3}{2}x^{-1/2} - \frac{5}{2}x^{-1/2} + x^{1/2}$
 $= 0$
and
 $2x^2f_2'' + 5xf_2' + f_2 = 2x^2(2x^3) + 5x(-x^2) + x^{-1}$
 $= 0$
and
 $2x^2f_2'' + 5xf_2' + f_2 = 2x^2(2x^3) + 5x(-x^2) + x^{-1}$
 $= 0$
So f₁ and f₂ both solve $2x^2y'' + 5xy' + y = 0$.
By steps 1 and 2 we have that the
general solution to $2x^2y'' + 5xy' + y = 0$ is
 $y_h = c_1f_1 + c_2f_2 = c_1x^{-1/2} + c_2x^{-1}$.

4(b) Let
$$y_{p} = \frac{1}{15} x^{2} - \frac{1}{6} x$$
.
Then, $y_{p}' = \frac{2}{15} x - \frac{1}{6}$
And) $y_{p}'' = \frac{2}{15}$.
Plugging y_{p} into $2x^{2}y'' + 5xy' + y = x^{2} - x$ gives
 $2x^{2}y_{p}'' + 5xy_{p}' + y_{p}$
 $= 2x^{2}(\frac{2}{15}) + 5x(\frac{2}{15}x - \frac{1}{6}) + (\frac{1}{15}x^{2} - \frac{1}{6}x)$
 $= \frac{4}{15}x^{2} + \frac{10}{15}x^{2} - \frac{5}{6}x + \frac{1}{15}x^{2} - \frac{1}{6}x$
 $= \frac{15}{15}x^{2} - \frac{6}{6}x$
 $= x^{2} - x$
Soj y_{p} is a particular solution to
 $2x^{2}y'' + 5xy' + y = x^{2} - x$
is given by
 $y = y_{p} + y_{p} = c_{1}x^{-1/2} + c_{2}x^{-1} + \frac{1}{15}x^{2} - \frac{1}{6}x$

$$(\Psi)(d)$$
 We want
 $-1/2$
 $y = c_1 \times + c_2 \times + \frac{1}{15} \times - \frac{1}{6} \times \frac{1}{5} \times \frac{1}{$

Where

$$y'(1) = 0$$
 and $y(1) = 0$.
 $-\frac{3}{2} - \frac{2}{5} - \frac{2}{15} - \frac{1}{6}$
We have $y' = -\frac{1}{2}c_1 - c_2 - \frac{2}{5} - \frac{2}{15} - \frac{1}{6}$

So we must solve

$$y'(1)=0$$

 $y(1)=0$
 $y(1)=0$
 $-\frac{1}{2}c_1(1)^{-3/2} - c_2(1)^{-2} + \frac{1}{15}(1) - \frac{1}{6} = 0$
 $c_1(1)^{-1/2} + c_2(1)^{-1} + \frac{1}{15}(1)^2 - \frac{1}{6}(1) = 0$
 $-\frac{1}{2}c_1 - c_2 = \frac{1}{30}$
 $c_1 + c_2 = \frac{1}{10}$
 $c_1 + c_2 = \frac{1}{10}$

Solving (1) for c_2 gives $c_2 = -\frac{1}{2}c_1 - \frac{1}{30}$. Plug this into (2) gives $c_1 + (-\frac{1}{2}c_1 - \frac{1}{30}) = \frac{1}{10}$. So, $\frac{1}{2}c_1 = \frac{2}{15}$. Thus, $c_1 = \frac{4}{15}$. And, $c_2 = -\frac{1}{2}c_1 - \frac{1}{30} = -\frac{1}{2}(\frac{4}{15}) - \frac{1}{30} = -\frac{5}{30} = -\frac{1}{6}$. So, the solution we are looking for is $y = \frac{4}{15}x^{-1/2} - \frac{1}{6}x^{-1} + \frac{1}{15}x^2 - \frac{1}{6}x$